AHIQIA & =371 111 SEHX|7} gl 28 =2 AH|QlA o
HIA Z2{x]

=l = b

=5 AY/MIFE ololx]|

X
02

oy ot [> 3
H1 U pm A
on re =

3 [
ot

3|_|

i

AH|QlEA AR HH
=2 'l A3 Mal:
LIAF &£ 2|2 1.4305.
= £ 1.4034.
2 E A8 Elx| o2
LIAF £ 2|2 1.4305.
= El 1.4305.

7| 21 1.4310, 223

0 o[>
ol oy o
g

[>

[>

um

T

2

HrHT
2 12

oX 0
toir Jon

H

% g mo 1> "

In}
o 1> Im OF MM

11
mngggmlmi%
1l orr

-

Fl'rirlr

i gy

o_|_

% 00

_ul

H-u -

Ofn pu

w O > oY |

Mo
> /0 [H

N OErErood

-

IC8 0|8 5tod 2 EEO|

A+ 5H5( 4 M04)0] 75 3Lt

Aolgol ofsH &S FHSELICH

EE XO|7| 25 237 2 kMHE

4 8. LHAL gE]20] 0|8 1
2oZ MOUEIT S 8.

o

o
2
ol

1> 0
>

=2
[==]
Bt U: &3 HE /US.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
= = = e =
AHI2IMA E =371 Q10 SRR} 9= A 2 AH|olA 9l
e
A E8X
=N
@ D4
1 / :
. i
: i
[ i
\ W
D35
D1
EZS 29
oluA ZRX| EHX| 2
e EA 7 & EH D1 D4 L L1 AEE3 SW Fx30° A& Bt TE s
7|12 S| S BN e A3F QM
F1 2 N F229.N
K0635.3004 T AE 23t 4  M8x1 15 40 21 4 - 1 6 12 K0344.90
K0635.3105 T A&l PEL= 5 M10x1 23 5224 5 - 1,3 5 12 K0344.91
K0635.3206 T AE FEE 6 M12x1,5 23 57 28 6 - 1,8 6 14 K0344.92
K0635.3308 T AE PEE 8 M16x1,5 28 72 36 8 - 2,3 15 35 K0344.93
K0635.3410 T A€l 73 10 M20x1,5 28 78 40 10 - 2,8 15 34 K0344.94
K0635.03004 T  AE(QIEA A&l A 4 M8x1 1540 21 4 - 1 6 12 K0344.90
K0635.03105 T  AHQIFHA AE PEE 5 M10x1 235224 5 - 1,3 5 12 K0344.91
K0635.03206 T  2E|QIEA AL Zast 6 M12x1,5 23 57 28 6 - 1,8 6 14 K0344.92
K0635.03308 T  AE(QIEA A&l A3t 8 M16x1,5 28 72 36 8 - 2,3 15 35 K0344.93
K0635.03410 T  AE(QIEA AEl Zs 10 M20x1,5 28 78 40 10 - 2,8 15 34 K0344.94
K0635.13004 T  AHQIFA AE HIZ8 4 M8x1 154021 4 - 1 6 12 K0344.90
K0635.13105 T  AHQIFHA AE HIZE& 5 M10x1 235224 5 - 1,3 5 12 K0344.91
K0635.13206 T  AE(QIEA AEl HIZ3 6 M12x1,5 23 57 28 6 - 1,8 6 14 K0344.92
K0635.13308 T  AEQ3a AEl HIZ8 8 M16x1,5 28 72 36 8 - 2,3 15 35 K0344.93
K0635.13410 T  AHQIFA AE HIZE& 10 M20x1,5 28 78 40 10 - 2,8 15 34 K0344.94
K0635.4004 U AE 28 4 M8x1 1540 21 4 13 1 6 12 K0344.90
K0635.4105 U AE] PEL 5 M10x1 23 5224 5 17 1,3 5 12 K0344.91
K0635.4206 U AE A5t 6 M12x1,5 23 57 28 6 19 1,8 6 14 K0344.92
K0635.4308 U AEl P 8 M16x1,5 28 72 36 8 24 23 15 35 K0344.93
K0635.4410 U AE] PEE 10 M20x1,5 28 78 40 10 30 28 15 34 K0344.94
K0635.04004 U  AE(QIEA AE A3 4  M8x1 1540 21 4 13 1 6 12 K0344.90
K0635.04105 U  AE(QIEA AE s 5 M10x1 23 5224 5 17 13 5 12 K0344.91
K0635.04206 U  AHQIPA AE ast 6 M12x1,5 23 57 28 6 19 18 6 14 K0344.92
K0635.04308 U  AE(QIEA AEl A5t 8 M16x1,5 28 72 36 8 24 23 15 35 K0344.93
K0635.04410 U  AE(QIEA AE P 10 M20x1,5 28 78 40 10 30 28 15 34 K0344.94
K0635.14004 U  AHQIFHA AE HIZE38 4 M8x1 154021 4 13 1 6 12 K0344.90
K0635.14105 U  AHQIHA AE HZE& 5 M10x1 235224 5 17 1,3 5 12 K0344.91
K0635.14206 U  AE|QIEA AE HIZH8 6 M12x1,5 23 57 28 6 19 18 6 14 K0344.92
K0635.14308 U  AHQIFHA AE HIZEd8 8 M16x1,5 28 72 36 8 24 23 15 35 K0344.93
K0635.14410 U  AHQIHA AE HIZE& 10 M20x1,5 28 78 40 10 30 28 15 34 K0344.94

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



[ ]
AEIQIYA & 37} 24T SUR|T} gl AS Z2 AB[QIA O |cn‘

HA 2|
ES 9

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



